3,128,649,000¥=

T R s | SRS 52
2 A 23,101,834 | 18,575,113 | 4,526,721
Aol 3,764,649 | 3,932,461| A167,812
I 626,000 626,000 0
611 A2 =22 610,000 610,000 0
02 7}8&st 2z 270,000 270,000 0
o738 270,000,000%4=
06 YBtESILTALE R 330,000 330,000 0
O Yetg 330,000,000%=
08 LHZEIE 54 EAIE R 10,000 10,000 0
onses
661 7|EtI L4 16,000 16,000 0
02 7|EfAtE & 49 16,000 16,000 0
OREx2|44a 16,000,0009=
Fels 3,138,649 | 3,306,461| A167,812
671 0| R0 10,000 10,000 0
01 0l 20[At=¢ 10,000 10,000 0
O 3303 0|2+
672 EIS|AHLZ Y 3,128,649 | 3,296,461| A167,812
01 LB AMUZ 3,128,649 | 3,296,461| ~A167,812




(Sl - -3)

dE e

-8 M of & o o A o i
A2 A 19,337,185 | 14,642,652 | 4,694,533
ALY 19,237,185| 14,542,652 | 4,694,533
171 NE2E3+Y 300,000 300,000 0
01 Al g2Es+Y 300,000 300,000 0
Ostr=/RIAREHS 300,000,0004= 300,000
173 ER|AlAEEZR S 18,937,185 | 14,242,652 | 4,694,533
01 Z2Ez2Z4 12,639,000| 10,979,000| 1,660,000
OYZS sty SHA2RS HHIAIY 4,838,000,0004= 4,838,000
O&sYd stet= YH|AIY 1,046,000,0004= 1,046,000
OYZS Stet2 HHIATH 2EHA) 1,315,000,0004= 1,315,000
OYZ s3oteelAld SEAY 500,000,000&= 500,000
OZ=sd4 s0{Z DSt YHIAY 1,715,000,0008= 1,715,000
Oggsd s0Z or=dte YHAMY 2,498,000,0009/= 2,498,000
OgL=Z4 50|12 DtSste= HHAY 147,000,000%= 147,000
OYdEE s0{Z DISdtex HH|AIY 100,000,000¥= 100,000
O8sE= s0E Oi=dter YHAMY 180,000,00084= 180,000
O&sHd 33ote 2 1704 A2 HAY 300,000,000&= 300,000
02 Efe|AdgEZ2S4Y 5,641,985 3,205,652 2,436,333
O AMYT 5,641,985,0008= 5,641,985
03 Al=HEZE54¢Y 656,200 58,000 598,200
OYZ s5otrelAld SEAY 66,600,000%= 66,600
O&sdtt s0{Z D3t x HH|ALY 205,600,000&= 205,600
Oggsd s0E Or=dtr YHAMY 287,200,000¥4= 287,200
OgYL=2d 50| DIS3te= HHIALY 12,600,000 = 12,600
OYgHE s0{Z Or=dtr YHAHY 8,600,000¥= 8,600
08535 SOZ 0rSdtek YHAMY 24,000,000¢= 24,000
O8sYd 550t 2 1714 AZ 7 HANY 51,600,0008= 51,600
2= 100,000 100,000 0
181 &MAYAHZ 100,000 100,000 0
01 &MAYol=Z 100,000 100,000 0
O &MAIYAHZ 100,000,000 = 100,000




